X+ o
1 / / i
b — B T2
) J(wy ’ fﬁ T xS
/
0) [Xg (j)( = ﬂ//&/?«x rC '
) () : gf{—d; LG L)
X4
%700’7///&: Rosbhd 1 /tm%/ lowt
xbd
/I) j)(?ff de - j@ XM )M)CI)‘ ~X+&/x+4 [@/x {/+(' )(114 (KZ:I) +7 _ 4"’ 2 +k
X1 (\(—4) UW) )
x-z /1 4 2 ]
Y / (x-9)° o ‘J(ﬂ'(x—4)1)c/x—~4/x-4/fy_—§f/ {4 1) <9 V;"/”"'l
o =0, Xy oy, bl k)
C) /XL*ZYM " r F A // \x-1) - ()
/2 b= //24 K-pp=2 <=1
oK adesh = pies” o

XZMZY th - (XM)Z* 3

. g«”))? 4)

G ,
_Z id% “(“)7‘/* A=< 1= X+l
’ J;'«VT)*I]) « : )4) Lt =) Kol ped
g

= \Gﬂ/rmé,lf “(;O/Vovziv (%4 4+



%05/07;/1 Y2 /W/é/// z/ﬁm@/:
;'X + 2 %ﬁf 2 ] X oo Kxnapxilp ;7( = X /X

—_—

‘\) —X'L_f s = th) K*J]) = (\“Z) 1 (y-'l) (XZ+X~Z) -~ _y .,'QP % = g/@—Z
o4 2 9)(:975)(-2% A J=-x16
KON T = Zpx
p=3 =&
/ M/t?/m/ ! e
’“)&ZK C/x ;}HZ ,i £

(y'7'(f P(‘ T()HZ
Y M?Z/'x dx )-(ig) () ()

It N )
X=1 T: p L2 (k1
) [ 4 f L 14 )
U= + U
= jx/n&—lj Inx -4 dx —
Wy /v// b iohosssottd Viaeny, jid
A J(x&x—fﬂx) fo /4/7%/;;,/5 S

= X'ZMZK‘QX&X—Q% + C

Y JM{%X-Mx= Xv/rc#ﬂx —J%ﬂx =

dn il = yarehyy - g b (x41) +¢

A ESN

1
B X-mlfx — gj;di = X'ﬂ/rmlﬁq«



}/7 l&(?,m‘/j)e/.'

i} 't K o MM
|7 0 s 4

o) - |fret (Ve b J,mw.af
= S/ag/c/l = 24(7/ gmz%) (711 5'/@7/[75'/) G/Vc% X+ Xm)

S) i dx Sylx = Sluylosk .7
dinx 4
S Jiox cos x gint - ost

_ e i/ J j Ly j” Gl Al 4152 G 1Y

Lyst

- cast V< St
= - 9/‘711471 dv=Crstdf



